2. Match the correct word with the correct definition.

a) sibling without enough money to pay what you owe

b) improvement money provided by an organisation for a special purpose
c) funding a sum of money that a person owes

d) transmission becoming better

e) bankrupt the process of sending out electric signals

f) debt a brother or sister

3. Read the statements about the text. Circle if the answer is true(T), false (F) or doesn’t say (D5S).

a) Nikola Tesla was from northern Europe. T F DS
b) Tesla lived in more than one European city. T F DS
c) Tesla and Edison only worked on three projects together. T F DS
d) In 1885, people gave Tesla money for his company. T F DS
&) Tesla gave the Soviet Union information during World War II. T F DS

4. Put the events from Tesla’s life in the correct order.
a) Tesla and Edison stopped working together,. s

b) Tesla began working on a project in Long Island. L.
c) Tesla left Budapest.

d) His investors didn't believe in his wireless transmission project. ...

e) Tesla designed a hydroelectric power plant at Niagara Falls. ...

5. How would you describe Tesla’s psychology after 19177 Please give support for your answer.



